--l“l
E r

U
T Y . N Y Y . ™~ a® v Sy ~
> ™ . ' — if " . r : 4 V 'c\ 'y '.‘ : - ..-.'v\ B l i | \ ¢ Py P ]l i - =
. v ‘:‘ 'l’.o:— . . l = -‘-a ..'.-‘ \ r 'n '[ a ‘ j o1 ‘ ' ‘ ) ' .l : \ \’ . : ’ —
|\ A . - M _— - " § ..» — » | - " .', ‘ ' ‘,- - " . “‘ . l !,-,. i . .
. — - - ” - A o = - F, J - o v, o -~ ., / b - ;:\‘ : e - - '\'.‘ A o

,"1., ] e = f
How do
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- Use a number line to find the difference.
1

.E'_'_)_(_: E'— 16 Q: —1—4——1-4— __E_é: -1.9-0.8

i =

Work with a partner.

a. Plot —3 and 2 on the number line. Then find =3 — 2 and 2 — (—=3). What do
you notice about your results?

-6 (-5) -4 -3 -2 -1

: - . ; 3 caq .
b. Plot-f-:-and 1 on the number line. Then Imd-:j- —land 1 — = What do you

notice about vour results?

£eX Transaction Amount Balance The table shows
I ™ = e Previous balance == 100.00 the balance in a
1/02/2013 124  Groceries 34,57 b%.43 checkbook.
1/07/2013 Check deposit 875.50 Q40D.4% black = $ added
1/11/2013 ATM withdrawal 40.00 d = & talign e
1/14/2013 125  Electriccompany ~ 76.43
C1/17/2013 Music store 10.55
1/18/2013 126  Shoes 47.21
/2 Check deposit 125.00
1/24/2013  Interest 2.12
3 127  Cell phone 59.99

-
.

Wi B VRS T JH~~
“Q!_Aih

' Ll el

J 'Y LY 8

i A 49 ot Y
T e

: ~ '."l'.u,..‘:'.‘]",,'.’.... - l ! =8l =
-' " 1 > 1 =l » % VR T/
|. f.‘:l_. :)“1 f A S [ . - b 5 »

e 1 . i — - -
I I eV Wealeatatbaitd
| MEI* 1L i1 111y
- : - L I .- .y

. |



o Er |~ - ) e T

- e -

wwi_ \q Hrlonal numbers - add the opposite (or' keep-ah_ n ,H,

‘._.L-. D

_ ave created addition you may use the addition process from the
lesson ;
‘(same signs, add and keep; different signs, subtract; take the sign of the larger
humber then you'll be exact!) -'

* remember to add or subtract fractions you must have common denomlnm@rs

k- CC

g2t

ﬂ
=29 L
= 7 t3
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Check for reasonableness:

A -(-1)

reasonalre v
-M’W

B
i

Fmd The dlffer'ence Check for reasonableness. Are your answers reasonable?

| 1 5
(2) (5/—\—_3_) 3) 33_3
2

5



 the difference between the numbers. Distance is ALWAYS positive.

abs \val.
. Find the dlsmnce between the two numbers in two different ways.
N NN .
oy & S
: >3~ >3
23 Y
17 =725 ¢ (2%)
° -3
- = "3t(3
-2
-3 _2§ - -"g
-4
= -5

digance= |5 = didance = |5\ .-:@

Ex: In the water, the bottom of a boat is 2.1 feet below the surface, and the
top of the boat is 8.7 feet above it. Towed on a trailer, the bottom of the boat
is 1.3 feet above the ground. Can the boat and the trailer pass under a bridge

with a clearance of 1 ft 8 in?

\&w\\‘\\\\\///// ,/'f hﬁ%h‘t U€ \d)a*z %7 e ("’2-0
N é = €7+ 2.)
le'arrla;\c‘e_: 11 ft8 : - . '0-%
heigt OF Looak + tvaiter= 10.8 +1.3
= 2.
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